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	Numeracy questions: solutions and reactions


	Numeracy question
	‘Maths Solution’
	Everyday Solutions

	You are going to carpet an L-shaped room. What is the area of the room?



	Measure room in metres.

Calculate area A
(length times width);

Calculate area B
(length times width);

Area A plus area B equals area required.
	· Ask in the shop.

· Use the ready reckoner from the carpet manufacturer.

· Ask a friend who is good at this.

	You go out for a meal with six work colleagues.

The total cost of the meal is £129.36.

How much does each of you pay?
	Assume this means share equally amongst seven.

Assume no extras need to be added.

Divide 129.36 by 7 exactly using short division.
	· Ask one of the others.

· All put in £20 (someone says this will be about right with a tip).

· Come to a friendly agreement as only three had wine and not everyone had dessert, etc.

	You are buying detergent and see three different size bottles:

1 Litre at 99p

150 cl at £1.50

700 ml at £0.75

Which is the best buy?


	Note units are different.

Convert all units to centilitres (or millilitres).

Divide by number of centilitres (or ml) to find price per cl (or ml).
	· Buy the one I need – I can see there is not much difference.

· I look on the label on the shelf – it gives a unit price.

· I buy a small one – so it fits in the cupboard.

	Numeracy question
	‘Maths Solution’
	Everyday Solutions

	I buy the following nine items and am told I can have a 15% discount.

Bread 72p

Melon £1.69

Butter (250g) 82p

Double cream 99p

Mayonnaise £1.28

Cucumber 48p

Cake 44p

Bananas £1.04

Cheddar cheese £2.83

How much money do I save?
	Find the total cost of all of the items.

Calculate 15% of the total by multiplying the total by 15 and dividing by 100.
	· I can do this on the calculator, but sometimes I forget which button to push first.

· I know a quicker way than that as 10% is easy and 5 is half of 10.

· I don’t do this.

	A survey has been done on the method of transport people use to go to work.

Out of a total of 60 people the results were as follows:

Car 8

Train 33

Bike 5

Walk 2 

Bus 12

Draw a pie chart to illustrate this information.
	Check total is 60.

Divide 360 by 60 to find number of degrees per person.

Multiply the number of people in each category by the degrees per person to find the size of the sector for each category.

Draw a circle with a pair of compasses and measure the angles with a protractor.

Shade or colour as appropriate.
	· I have been shown how to do this, and it’s okay, but I don’t remember the rules.

· You can do all this on the computer now, so there is no point.

· I am fine with the pie charts, but it is much easier using fractions – you don’t have to be that exact.
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